
 
 

3.OA.7.-Test1B Fluently multiply and divide within 100 

Multiple Choice 

Identify the choice that best completes the statement or answers the question. 

  

 

 1.  Solve: 11 x 6 = ? 

a. 6 c. 5 

b. 17 d. 66 

  

 2.  Solve: 81 ÷ 9 = ? 

a. 9 c. 72 

b. 1 d. 90 

  

 3.  Solve:  36 ÷ 6 = ? 

a. 6 c. 1 

b. 42 d. 30 

  

 4.  Solve:  63 ÷ 9 = ? 

a. 54 c. 8 

b. 7 d. 72 

  

 5.  Solve:  28 ÷ 4 = ? 

a. 32 c. 24 

b. 8 d. 7 

  

 6.  Solve 5 x 6 = ? 

a. 30 c. 1 

b. 11 d. 35 

  

 7.  Solve:  8 x 3 = ? 

a. 5 c. 24 

b. 42 d. 11 

  

 8.  Solve:  6 x 7 = ? 

a. 42 c. 24 

b. 13 d. 1 

  

 9.  Solve:  9 x 4 = ? 

a. 63 c. 36 

b. 5 d. 13 

  

 10.  Solve:  24 ÷ 2 = ? 

a. 21 c. 26 

b. 12 d. 22 



 
Answer 1: D 
Answer 2: A 
Answer 3: A 
Answer 4: B 
Answer 5: D 
Answer 6: A 
Answer 7: C 
Answer 8: A  
Answer 9: C  
Answer 10: B 

 

  


